(%11) A:matrix([e,2],[(1,1]);

[ 2]
(%01) [ ]
[1 1]
(%12) eigenvectors(A);
1
(%02) [[[2; - 1]; [1' 1]]; [[[10 1]], [[1' - -]]]]
2
(%1i3) P:matrix([1,1],[21,-1/2]);
[1 1 ]
[ ]
(%03) [ 1]
[1 --]
[ 2]
(%1i4) PINV:PAM(-1);
[1 2 ]
[- -1
[ 3 3 ]
(%04 ) [ ]
[ 2 2]
[- --1]
[ 3 3]
(%15) ed:matrix([%e”(2%t),0],[0,%e (-1%t)]);
[ 2t ]
[ %e 0 ]
(%05) [ ]
[ -t ]
[ o %e ]
(%16) stm:P.ed.PINV;
[ 2t -t 2 t -t
[ %e 2 %e 2 %e 2 %e ]
[ + - ]
[ 3 3 3 3 ]
(%06) [ ]
[ 2 t -t 2 t -t 1]
[ %e %e 2 %e %e ]
[ - + ]
[ 3 3 3 3 ]

(%i7) []



